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= 12,767,503
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g 8,060,000
o= 2,190,000
= 12,767,503
AT AE AX(MNECEELESH) 19,014,470 14,267,000 4,747,470
Fag 8,060,000
o 2,190,000
= 8,764,470
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401 Al HI L £ 0HHI 650,000 500,000 150,000
01 Al& H| 650,000 500,000 150,000
O&EMEH(DAHR9, 22, 2X0I8) NgaxE
A& Z A 200,000
ODNESH (LA CAOIE) KA T AlEES(
Heligh o) 100,000
Oa=sH(odssE) Agas 4X) 350,000
AT =2 S 200,000 600,000 A 400,000
401 Al HI L 204 HI 200,000 600,000 A 400,000
01 Al&H| 200,000 598,000 A 398,000
OLs A222Z DHN 28 32729) 200,000
LA HHIAIY 5,950,000 8,270,000 N 2,320,000
Fag 2,975,000
= 2,975,000
403 XX SHHS K20 & 5,950,000 8,270,000 N 2,320,000
Fag 2,975,000
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O M+ZY FH (5H Z47%)
5,950, 000,000 5,950,000
g 2,975,000
= 2,975,000
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